(lalk] SO MATHEMATICS [l
2050 WITH SUHAAG SIR | 5 Shiat i

e 0 98930 58881

& 1 1
website | www 1111-9--9-1111-9-9 com, www.tekoclasses.com

[qed Taanea 1% 99, TF s MW, mm?lavﬁr'alj@—rl gAY § H7 94T |
TE (43 HbeU FT, H3d (Ui eM%, ‘99T d BI3 @ &I, THIT WL 3G ||

efaa: Alerd €A aolar
erqole M1 TUIBISqIeroll ATeIof

SOLUTION OF IIT JEE-09

sy SUHAAG SIR

& HIS STUDENTS OF CLASS MOVING 11 TO 12t

Abhishek Bhardwaj hool MVM
Abhishek Singh hool MVM
Avantika Garde hool KV-1

Sangya Thakur hool KV-1
Rahul Mishra School Model T. T. Nagar

Solution also Available

of IIT JEE 2009

Paper-1 & 2 on
website :
www.iitjeeiitjee.com,
www.tekoclasses.com
or
come at our institute

Page : 1




H(lalke] SO MATHEMATICS [l

Zone-1, Main Road, Bhopal
SrASSES WITH SUHAAG SlR &:(0755) 32 00 000, 653 7777,
R T 0 98930 58881

W IE'].IEITE' WWW. 1111-9--9-1111-9-9 coln, WWW. telmflﬂsses.mm

This section contains & multiple choice questions. Each question has 4 choices (A, (B), (2 and (I for its answer, out of
which ONLY ONE iz correct.
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MATHEMATICS PAPER-1 Question sequence as per
SECTION-1 Paper CODE-5

Simgle Correct Choice Type

The munber of seven digit mtegers, with sum of the digits equal to 10 and formed by using the dimts 1, 2 and = only)
12

(A3 55 (B) 66 {85 (L 88
Let z = x+y be acomplex number where x and » are integers. Then the area of the rectangle whose vettices ars
the roots of the equation =% 4 =% = 350 15

(&) 48 (Bl 32 (Ch 40 (D 80

Tangents drawn from the point P(1, 8) to the circle 2* H#—6x—dy —11 =0 touch the citlce at the pomts & and B
The equation of the circumcircle of the tnangle PAB 15

(&) 22t Hdr—tp +15 =1 (B) x2h2-dx—10p +12 =10

(C) 2 hi—2xt+by —29=10 (D) x2 -+ —bx—4y +19 =0

The lne passing through the extremity & of the major ams and extremity B of the minor ams of the ellipss
X2 =8 meets its ausliary circle at the point 3 Then the area of the thangle with vertices at &, I and the
origin O 13

n 51 29 o 21 27

&) 7 B) 75 o D195

15
Letz = cos8 +7sit0 Then the walue of 2 )y Eay at 0 =2"1s

:w-l

(4 (B (D) ()

Asin 2° Zain 2° dein 2°

s 2"

Let £ be a non-negative function defined on the mterval [0,1]. I\/l_' 7)) ds —I F2)dt, U=x =1, 04

il

f{0y =10, then
1 1 1 1 1 1 1 1
{ﬁ;}f{g]ﬁi a.ﬂdf(g]}g {B}f{i]}i andf(g]}g
1 1 By 1 1 1 by A
*f":”(ﬁj‘:imdf(ﬁ]“ﬁ @f(aj"‘a E‘“df(?] £

Let P(3, 2, 6) be apint m space and O be a pomt on the lne 7 = [i— 7+ 2k |+ s —3:?+:.;+5£ |. Then the valug

of p for which the wector F@is parallel to the plane x —dy + 3z=11s

i 1 il . 1 -
@ 5 ® -5 & O
" _ _ . I
If #,&,7 and J are unit vectors suchthat |@=& . icxd |=1and @< =§,then
(&) 7.& 7 are non-coplanar (B) &.7.d are non-coplanar
(C) &, d are non-parallel (DY 7.4 are parallel and & 7 are parallel

Page : 1




= 2423, 111- Floorn, Between Central Banlk
1fe k‘ﬁ ENJOY MATHEMATICS | "2 'hoter arch Manor; M.P. NAGAR,
Zone-l, Main Road, Bhopal
SrRSSrS WITH SUHAAG SlR & :(0755) 32 00 000, 653 7777,
T thm muprort 0 98930 58881

W E']]‘;ltl? WWW. 11119-9-1111-9-9 colrn,  WWW. tE'LIIlFlEISSES.FIIIIH
SECTION-II
Multiple Correct Choice Type

[his section contains 4 multiple choice questions. Each question has 4 cheoices (A, (B), (2 and (I for its answer, out of
which ONE OB MORE is/are correct.

iy 4
by iR s
> 3 3

2 sin®x  costx 1
i tan2 r=— + =
(&) 4 &) 4 27 125

1 sin®x cosx 2

& tan® x= = =
<) £ L) 8 2% 125

El} Area of the region bounded by the curve vy = e and linesx =D and y = e 13

1 e

(A e —1 (B) _flnne+1—yn.:iy (C) e—xle”.:ix D} .Ilnycfy
1 1 1

X
a—at—xt -

4 o » (olf Loz finite, theh

|
=1, ERter il

4
¥—=0 ¥

(B)a=2 EB)a=1 (VL= 1/64 D) L =132

M d
42 In a triangle ABC with fized base BOC, The vertex & moves such that msB+msC:45ij_ Ifa b and g

denote the lengths of the sides of the thangle opposite to the angles &, B and ) respectively, Then

(AYb+c=4a (B b e=2a

() locus of point & 15 an ellipse (Ddecusef point 415 a patr of strateht lines

SECTION-II
Comprehension Type
[his section contahs 2 groups of questions. Each group has 2 multiple choice questions based on a paragraph. Each
ruestion has 4 choices (A), (B, (C) and (D) for its anwer, out of which ONLY ONE 15 correct.
Paragraph for Question Nos. 33 to 35

4 fair die 18 tossed repeatedly untl a stz i1z obtaned. Let X denote the number of tosses required.

55 The probabiity that 30 = 3 equals

(&) 25/216 (B) 25/36 (C) 536 (D) 125/216
54 The probabiity that ¥ = 3 equals

(&) 125/216 (B) 25/36 (C) 536 (L) 25/216
53, The conditional probability that ¥ = & given ¥ = 3 equals

(&) 125/216 (B) 25/216 (Eai=h (L) 2336

Paragraph for Question Nos. 36 to 38
Let Abe the set of all 5= 3 symmetric matnices all of whose entries are etther 0 or 1. Five of these entries are 1 and four of
them are O
EL) The number of matrices i & 13

(A) 12 (B 6 ()8 )3
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(&) less than 4

(C) at least 7 but less than 10

(& 0 (B) tore than 2

Eife The number of matrices A in & for which the system of linear equations A| ¥ |=| 0 | has aunique soltion, is

55, The number of matrices & i A& for which the systemn of inear equations A| v [=| 0 | 15 inconsistent, 15

This section contams 2 questions. Each question contatns statements grven i two columns, which have to be matched. The
statermnents 18 Column T are labelled &, B, C and I, while the statements m Colunn IT are labelled p, q, 1, s and t. Any given
ctatemnent 1 Column I can have correct matching wath ONE OF MOEE staternent(s) i Coluran IT The approprate
hubbles corresponding to the answers to these questions have to'be darkened as illustrated in the follotwng example:
[f the correctmatches are A -p, sand B - qandr, C - pand g; and D - s andt; thenthe correct darkenng of bubbles

il lool like the following,
P _aN Ty siA
AR-@ O &
JORCROROIO
e @ O &)
Dl @ O & D
553, Iatch the concs in Column I wath the statements/expressions m Columnn 1T
Colunn I Colunn IT
(&) Circle (1) The locus of the pomt G, &) for which the ine 2x + o= 1 touches the
circle k32 =4
(B Parakola (g Points z in the complex plane satisfring |z + 2| - |z — 2= £3
(C) Elipse (t) Point of the conic  have parametric representation
1-¢* 2t
= 3 =
. I[Hﬁ} N
(I Hyperbola (5) The eccentricity of the cotc lies i the mtetval 1< x <o
(t) Pomts z m the complex plane satisfng Be(z + 17 =z + 1

% 1

z 0

(B at least 4 but less than 7
(1) at least 10

= 1

& y

(C) 2 D)1
SECTION-IV
Matnix -Match Type
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AL, Ifatch the statements/expressions in Column I wath the open mtervals m Column IT
Colunn I Colunn IT
(&) Interval contaned inthe domatn of definition of T
non-zero solutions of the differential equation P Ay
(=3P ¢ +y=0
i
(B)  Interval contamming the value of the integral () D=E
5
lx=1ilx=2nx=3x=-4dnx-5dx [;?T 5;??}
1 I:I':I gt
(C) Interval in which at least one of the points of P
local masmum of cos®x + sinx lies (s (DE
. . 1 . .
(D0 Interval in which tan™ (sinx + cosx) imcreasing ) (—m.7)
1,275
3 |2 1 |1L71 41
E =7 =i’
|5
2 |2 a1y 19141
i =T ah
S5
(- 1275, E(0,17
42435 =77 24. (@) ;“‘H (300
D2 (A) (e () 4 (aiy) (x4 iy =350 K’/R
(z-1y)(x —)[ 1y A H{z-1y)° = 350
[y [ " + =% —y*] = 350
& - 3= 173 Eqquation of line AB s x=—3y + 2
R It cuts the avshry circle at I
satisfies (4, 3) (=4, 3) (-4, =31 (4, =3) area of Triangle AOM is 27/10
50 areals 836 =48 25 (D) z=cosH+isind
42 (B ity —bhx Ay —11 =0 .
By diametrical form -
2m-l
(z=3)(x-1) + (v —8)(3—2) E Il (2™ | |
w0 =1 i
15 it
2 fm( i3 J
M=l €
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I T N 25sintx =20 sinx +4 =10
F[E e Sl e 8 g :| [Ssinzx —2][5 sin?x—2]=0
5 [Sanx =2 =10
A e S O
R [ # # ‘ ] — iE
]
gy D :
| ] 2" l+:!.‘£—1
il — | 2 7
. [ms-ilu +i s1n 4”—1] /5
NE
| A 45 x
id :
A + A
) [ B } 3
" To o 20l ool 0
[2 SRR e ] Tou can put wvalues i (A, B) and checlo
30 due to less time period now we will show on ow
[_E_ ; l:| web site
E a| = 1i{dain2®) S (&4, Just apply L-hospital two times we will gef
=9 gipy P value a = 2 than further L-hospital final value 15 1

B4 (due to legs time period now we will show deq

A6 due tc:.- less time penod now we will show on our M or€ar wi site)
web site : ; _
2. due to lesstime period now we will show on ou
web site

B (&) Coordinate of Q7 x=23 i+l
zeemLy °p

il
ot Lo A : = 1
t t
T e g 5 B V
+pam 1 55,0 25
+5 4+ & 6 6 216
(=3 H=2)(1) H{ 4 =HAPHE £ —4)(B=0 el 5o ° o
Ho=1/4 (5]3 1 (5]31 (5]*1 (5]51
= | M= =] a=t] = == |i—F 00
28 due to less time period now we will show on our £ B B B g oh LBy B
web site
D9 (4, B) [5]31
6] 6
sintx costx 1 —5:§
+ = i 36
p B 5 c

15sittx + 10cos* x =6
15[am*x] + 10[1—sm® x2 =6
15[sintx] + 10[ 1+sin* x—sintx] = 6
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[5]5 1+[5]’51 a B oo |x| |4
= il et 4 b oolly|_|d
33 (D) (ETGJJ{ET i Efl g By sl |4
66 28 Lz 8
b g
5 5}{1 For uniq solution 4. 8 G =
B T @ by
1_35f 6 so answer s (B)
2)()
2 |
6 6 Wi 2 5
el
£iZd For uniq solution dip B i =1
i @ oo
5y 23
2] e 5o answer 13 (B)
S5
1 Bl 4 O7[EF 071
01 1|1 1 oflo71 @ P _Ofr & 1
56, (A)
0 1]o o #1 0Bl AR @ O &)
JIORCRGR L 1
1 ({1 1%0Cm1 %1 3§
ot 1 Al o W T e @ @ &)
B
g2 e g ol g B ® 0O
i) length of perpendicular from centre = 2
£ S A O | S € | ¢ | o
il 1
G o= 101 @ 1|l B0 ——=2 =2 +y* = o circle
B oo
i T | e e | L e -
() P& —PB = constant 13 defination of Hyperbola
R O s S (t) Tou assume t = tan® then locus will be
o A Al o |, G B 2 :
& gl wepy ellipse.
J N I 5 | B i | s O 5 i
(z) e =1 parabola & e>1 hyperbola
=7, (B X+ ytoz=d _
) z=(zty)
daxkby e 2 =d, Ee{x¥ ] R =2y+l]
2 x by ez = d; Fe [(x+10? = + 2] = 22 +y* +1
X =v 18 parabola
40, due to less tune period now we will show on our

web site
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